
tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

25 t = kg 5,6 t = kg

28,2 q = kg 2,300 t = kg

0,5 hg = kg 4,65 q = kg

34000 mg = kg 245 dag = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

27 000 g = kg 75 q = kg

3,65 hg = kg 8600 hg = kg

15 q = kg 0,37 t = kg

9,7 t = kg 180 dag = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

1520 hg = kg 54,89 dg = kg

780 dag = kg 48,89 cg = kg

1002 mg = kg 2,589 t = kg

1,006 kg = kg 4,826 q = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

8,5 t = kg 75 mg = kg

80,5 q = kg 150 g = kg

8050 hg = kg 5406 dg = kg

80500 dag = kg 456 cg = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

4895,5 cg = kg 500 g = kg

56 q = kg 1 269 mg = kg

125 dag = kg 1269 g = kg

6,52 t = kg 1584 dg = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

12,69 t = kg 5189 mg = kg

154 q = kg 681 dg = kg

5687 g = kg 684 dag = kg

5,687 t = kg 5981 hg = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

459 q = kg 1495 mg = kg

1,2984 t = kg 162 dg = kg

562,84 q = kg 1654 dag = kg

1562 dg = kg 4895 g = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

1958 g = kg 758 dag = kg

148 q = kg 1562 dg = kg

1,59874 t = kg 1 t = kg

4682 mg = kg 1547 cg = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

1 q = kg 1482 dg = kg

15,98  hg = kg 1,58 t = kg

165 g = kg 158 dag = kg

10 000 mg = kg 159 cg = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

145 q = kg 1,8956 t = kg

126 g = kg 5842 mg = kg

1895 dg = kg 4825 cg = kg

3895 dag = kg 9584,1 g = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

51,985 q = kg 893 hg = kg

15892 g = kg 1,005 kg = kg

4826 mg = kg 7364 cg = kg

18,56 dag = kg 934 dag = kg



tonne quintal kg hg dag g dg cg mg

Exprime les masses en kilogramme

1856,7g = kg 8264 hg = kg

1,586 q = kg 6589 dg = kg

7,932 t = kg 126 dag = kg

8567 mg = kg 1 g = kg


